ONI171dd SNINILSVA

OSNIANVS

)
=
pa
O
z
)

ONIIWWVYH OSNILLND

d373AN34

17

GRINDING

SP AIRe
ANGLE GRINDER

1 Discsize 50mm/2" [ROTARY GRIP] 1| Disc Size ] 0Qmm /4" [ROTARY GRIP]
@ Mini type. ® Throttle switch for continuous operation. ® For small workpieces in tight spaces. @ Built-in governor mechanism. @ Throttle switch for continuous operation. ® With handle grip

I SP-6252GCA I SP-6254GCA 210
157
50
33
84
55
125

1 Discsize | 0Qmm/4" [LEVER TYPE] X Disc Size 10 Qmm/4" [ROTARY GRIP]
@ Built-in governor mechanism. @ Safety lever. ® With handle grip @ Built-in governor mechanism. @ Throttle switch for continuous operation. ® With handle grip
| SP-1254 | SP-12546
235 235
140 48 140 48
82 82
120 120
l _ Disc Size 180mm/7" [ROTARY GRIP] 1 Disc Size | §Qmm/7" [LEVER TYPE]
@ Built-in governor mechanism. @ Throttle switch for continuous operation. @ Built-in governor mechanism. ® Safety lever. ® With handle grip
@ \Vith handle grip. ® 360 degree rotating rear exhaust. I SP-1261L14

1SP-12616G

62

110 110

LONG DISC GRINDER

3 Dpisc size ] 0 Qmm/4" [LEVER TYPE]
® Long shaft - Easy to hold. @ Stopper pin for fixing the rotating shaft

® Urethane covered cushion grip. ® Safety lever. ® Built-in power regulator.
@ 360 degree rotating rear exhaust.

| SP-7234B 350

41

51

EDP Model No. Th(r;:)ad Install method Fr(e:ﬂSg;ad Overa(trhrbength A'Q%Q/Smff)'o” Hose Coupling Net(\i\/ge)ight Accessories (45JAA52‘95)
370139 | SP-6252GCA = FrangeBolt M5| 15000 157 0.4 1/4"NPT | 0.62 | Spanner (H19mm), Allen key (H3mm, H5mm] |003043
370145| SP-6254GCA - FrangeBolt M5| 13500 210 0.55 3/8"NPT | 1.8 | Spanner (H19mm), Allen key (H3mm, H5mm]) |003258
370144 | SP-1254 M10%1.5|  Disc Nut 12000 235 0.6 1/4"NPT | 1.7 | Spanner (H10mm), Pin Spanner 000875
370142 | SP-12546G M10%x1.5]  Disc Nut 12000 235 0.6 1/4"NPT 1.7 | Spanner [H10mm), Pin Spanner 000882
370141|SP-12616 M16x2 Disc Nut 7500 270 0.8 3/8"NPT | 3.8 |Spanner (H17mm]. Pin Spanner 000929
370177 SP-1261L14 | M14X2 Disc Nut 7500 320 0.8 3/8"NPT | 3.8 | Spanner (H17mm), Pin Spanner 003883
370140| SP-7234B M10X1.5] Disc Nut 14000 350 0.9 1/4"NPT | 1.33 | Disc Spanner, Allen key (H4mm) 003388

Air pressure: 0.62 MPa  Air hose inner dia.: 9.5mm  Grip side exhaust (SP-6252GCA, SP-6254GCA, SP-1261G),  Grip bottom exhaust (SP-1254, SP-1254G), Rear exhaust (SP-7234B)
Air connector included





